




main: 

 ori $t2, 0xffffffff  #LSN1
 ori $t1, 0x0fffffff  #MSN1
 ori $t4, 0x00000001  #LSN2
 ori $t3, 0x00000000  #MSN2
 
 addu $t6, $t2, $t4  #add LSNs
 addu $t5, $t1, $t3  #add MSNs
 sltu $a0, $t6, $t2
 bne $a0, $zero, carry
 sltu $a0, $t6, $t4
 bne $a0, $zero, carry
 
 j  no_carry
carry:
 addi $t5, $t5, 1
 
no_carry:

 sltu $a0, $t5, $t1
 bne $a0, $zero, overflow
 sltu $a0, $t5, $t3
 bne $a0, $zero, overflow
 
 j  no_overflow
 
overflow:
 nop #flag error condition here
 
no_overflow:
 nop #finished.






